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QUESTION 1

If the BFD session goes down, the direct link will fail.
A. True

B. False

Correct Answer: B

QUESTION 2

How many bits are there in the label field of PLS?
Al

B.8

C.3

D. 20

Correct Answer: D

QUESTION 3

Configured on an interface: isis timer hello 5 level-2, which of the following statements is correct?
A. the interfaceLevel-20ofhelloThe packet sending interval is5s

B. the interfaceLevel-landLeva 1-2ofhell. The packet sending interval is3s

C. the interfaceLevel-20fCSNPThe packet sending interval

Correct Answer: A

QUESTION 4
An engineer uses two routers to test IPv6 services, and simulates the headquarters and branches by running BGP4+ of

interconnection. As shown in the figure, an engineer captures packets to view the update packets sent by R1. About this
message Description of information, which of the following statements is correct
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AS65001 AS65002

R1
Loopback. k ﬁ.-‘@}l’(}}j[}fl}fl

UPDATE Message-Border Gateway Protocol
UPDATE Message
Marker 16 bytes length: 83 bytes Tipe
UPDATE Message (1) Unfzazible routes
length: 0 bytes Total path attribute length: 62
byies Path attributes

A. The next hop address of the route described in this packet is:2001:db8::2345:1.:
B. This message describes the current revocationlPv6routing
C. The route described in this packet may be throughimportbow

Correct Answer: C

QUESTION 5
As shown in the figure, configure a backhaul summary route 10.0.0.0/24 on the border route RT1. next hop to RT2. At
the same time, the default route to the external network is configured. At this point, a routing black hole will appear. The

following is about routing.

Is the black hole statement correct? (multiple choice)
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A. Configuring black hole routing can solve the routing black hole problem
B. Routing black hole has no impact on the network and can be ignored
C. Precise routing $ can always avoid routing black holes

D. If the terminal in the network sends data packets to the network segment that does not appear on the internal
network, a loop will occur

Correct Answer: ACD
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